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SOCIOLOGY (PAPER-])

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and § are compulsory and out of the remaining, THREE are to be
attempted choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in chronological order. Unless struck off, attempt
of a question shall be counted even if attempted partly. Any page or portion of the page
left blank in the Question-cum-Answer Booklet must be clearly struck off.
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©Us—A / SECTION—A

1. frafafaa y@% w wfém 3o amm 150 v=E # fafed

Write short answer of the following in about 150 words each : 10x5=50

{a)

(b)

()

(d)

(e)

(b)

(c)

e wern agfEa g deem A B 30 ol B owmoawm & fewt & w4
foaemm iR |

How is objectivity different from value neutrality? Discuss with reference to
Weber’s views on methodology.

feedt 7w & ofteifis o & anfvifa 3 Rew yer arftanfe sfem =t iafda w fear?

How did the emergence of industrial society change the family life in Western
Europe?

e et 1 oaTe 3urm wedmhe Iurm @ e geR e 27

How is sociological approach to human actions different from that of
psychological approach?

form v Sfafial amnforee sftaq & stema & g 3win it s awd 87
In what way biographies could be used to study social life?

e F S A e & T o wed-wig R 1 R v swEm R v €7

How can we use reference group theory to understand fashion in society?

I AR 3N 3EF TV TEgrerdl % v % [ FR-d sigeuH aE daitie
3t B0fi? ww AR '

Which research technique would be most suitable for the study of consumer
behaviour and its social correlates? Explain. 20

g A Tomrer (Terem) fit SR ok gdin B smmfRar (T i fEd % e

- EAMIT T8 AT w3 FiRE |

Identify the similarities and differences between Marx’s theory of ‘alienation’
and Durkheim’s theory of ‘anomie’. 20

Tl e A e B aee B awed & oy e v mda Y femmrar (2fm) #
Yoo o1 IUA et <1 wehan 87
How could one use Merton’s concept of deviance to understand the traffic

- problem -in urban India? : 10
3. (o) T (S=X) A 3w = awea 37 3¢ Bw weR ‘gew’ ) e @l oEld yem w 2?
What do you understand by gender? How does it shape ‘male’ identity? 20
(b) B AW F rgaw, i wun ‘vl wie % @ fafm omm 21 fEe iR
“According to Max Weber, ‘class’ and ‘status’ are two different dimensions of
power.” Discuss. 20
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(c]

4. {(a)

(b}

{c)

7 % “aftrere’ o ‘s YRl R deeeell @ s HW@ ge wRd ane § weem
e F e H |

Using Merton's concepts of ‘manifest’ and ‘latent’ functions, explain the
persistence of corruption in Indian society. 10

A Al v fit s Rt A “arredl wrl’ B uwon # Bew wEw 3w A 27

How does Weber use the notion of ‘ideal types’ in his theory of bureaucracy? 20

ST Foe & rvrgd B frw wen ‘eremens faft ‘a3 @ firs 20

In what way ‘interpretative’ method is different from ‘positivist’ approach in the
study of social phenomena? 20

die h wikled F=laER (seamfn) € frit & swm #@ g fim ge=m (S
amgefefe) A = sEenatt w == FiRE

Using Mead’s theory of symbolic interactionism, discuss the stages in the
formation of gender identity. 10

WUs~-B / SECTION—B

5. frafafiag v 9 &1 I3 s 150 =6l § AR

Answer the following questions in about 150 words each : . 10x5=50

{a)

(b)

(c)

(d)

(e)

e & TgEn, Fi-RsA wwe’ F oiem & ==t AR

For Marx, class divisions are outcomes of ‘exploitation’. Discuss.

TH-FS H HE & GEE 1R & yiiew AWEem 7 g 87 a8 wmdl voe @ Re vem
firm 27

What are the distinctive features of social organization of work in slave society?
How is it different from feudal society?

mﬁmmaﬁo@omﬁa%ﬁﬁrﬁﬁﬁémaﬁﬁﬁl

Discuss T. H. Marshall’s views on citizenship.

Tfees < aun <= wiggl # e fiRe)

Distinguish between Political Parties and Pressure Groups.

‘gl % rgEn, yfE T X ol w1 ow dm @ ¥ qm B eniw wuw A wn)” feoasft
Fi |

“According to Durkheim, the essence of religion in modern society is the same
as religion in primitive society.” Comment.
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6. (o) ‘o, YE-AM W (SRA-Tw W) 81 AR 3R e F fER 6wl # fem=e it

“Power is not a zero-sum game.” Discuss with reference to Weber’s and
Parsons’ views, 20

(b) iR A e % YR (hewiene) Rl w1 e o SRR adim '

foper w3 aRER =1 wWeA § GEEE B _

Critically examine the functionalist views on the institution of family. How do

those help us in understanding family in the present times? 20
(c) ¥ ‘fra-37 TRy & Heur (SREEHEEeRH) § ¥ whgd 87

What do you understand by institutionalization of live-in relationship’? 10

7. (o) F et () AR 3 e e B 27 s ded @ ser ool
% g WiaER wE iR

How is religious revivalism different from communalism? Elaborate with
suitable examples from the Indian context. 20

(b) Ten W wrfes oReda @1 ue i e S 31 qenfy Srefae A 9 el 3
wiear & vafaa it = wdt &1 == ik

Education is often viewed as an agency of social change. However in reality it
could also reinforce inequalities and conservatism. Discuss. 20

(c) i ¥ argan, goiae Rl @ geet % fe % cafem weedl F i [ o 2
grEmEE A ged | el /Y TH 4T 6 G qe hieR |

According to Marx, capitalism transforms even the personal relationships
between men and women. Critically examine with illustrations from the
contemporary Indian context. 10

8. (o) SR 1w e T s S i v e ot ) SRR o R w37

How is the increasing use of technology changing the status of women in
-~ Indian society? _ : 20

(b Bk’ % o st g T wf Py fafad

Write a short essay on the Latin American perspective on ‘dependericyf. 20

(c) TR STRIEA ¥ 3T FN G £7 STgHie St 5 A ¥ IR O T8 gedE S o

orm T weTar Y 87, ,
- What do you understand by social movement? How has the mobilization by
Scheduled Castes helped them in constructing a new identity? .10
* ok &
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